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0 R REIfLE % b (such as 9~9)

o F[i,st] = F[i,st] + f[i-1,st']
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f[0,0] =
for 1 =1~ 7

for j = @ ~ 9 //HAEilk

for k =0 ~9 //MEFL - 1
if j <> 4 and not(j = 6 and k = 2)
f[i,j] = f[1i - 1,k] + f[i,7];
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o gn = 4 5 6

bog 5 ans = ans + f_'3,0]
ans = ans + f[3,1
D 1 ans =ans + f[3,..]
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o //digit[i] K%k n ANEFEEFILREZD,lenZnF LML,
/e ne= 58 dipit[l] = 8 digit[2] = 5

o for i = len ~ 1 //HZH—fL<nil xf 5L
o for j = @ ~ digit[i] - 1 //#& & & —{L8E1E

O if j <> 4 and not (j = 2 and digit[i + 1] = 6)
O ans = ans + f[i,j]; //HIE%

o if digit[i] = 4 or (digit[i] = 2 and digit[i + 1] =
6) break; //E % 4 #4562
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o for x =0 ~ 9

o ifk=1//EXxELE13

- £i,5,k,11 = F[i - 1,x,1,(1 - §*10~(i-1))%13];

O if j=1and x =3 //E44H137,

- fli,5,k,1] = f[i,5,k,1] +

O f[i - 1,x,0,(1 - j*107(i-1))%13];
o else //FERKMEE13

O if not (j = 1 and x = 3)

- f[i,5,k,1] = f[i - 1,%x,0,(1 - §*10~(i-1))%13];
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o bit[@] = 1;
o for (11 i =1; 1 <= 12; ++i) bit[i] = bit[i - 1]*18;
o for (11 1 = digit[@],mod = ©; 1; --1) {

0 for (11 j = ©; j < digit[i]; ++]) {

u ans += f[1i][j][21][(13 - mod*bit[i]%13)%13];

0 if (t || (7 == 3 && digit[i + 1] == 1))

0 ans += f[1i][j][@][(13 - mod*bit[1]%13)%13];
= }

O if (digit[i + 1] == 1 && digit[i] ==3) t = 1;

0 mod = (mod*10 + digit[i])%13;
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O 17 = 2™4+270,
O 18 = 22444271,
O 20 = 2744272,
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- f:i:j]=f[i'11j]+f[i'11j'1]

0 7T&count[0..n]
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o if digit[i] = 1 then ans = ans + f[i,need]
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